KYH-2000-12 Buast na KYH-2000

T'TT 63.30.320.000(605)-2 mr.

KVYH 2000.22.020

KVH 2000.00.009

KVH 2000.22.030 u
KVH 2000.22.030-01
Haxmanku (cap. y3en)

KYH 2000.22.010

Boar M16x40
I'aiika M16 1IKV-0,8.15.603
Illaii6a 16.01.. ‘ /

70 g—1laii6a 24.01..
KVH 2000.22.407

ITKVY-0,8.15.605

IIKVY-0,8.15.602 PBJI L=0,385m

KYH 2000.00.005
PBJI L=0,6m
KVH 2000.22.409 KVYH 2000.00.005
Boar M16x40
T'asixa M16

Ilaii6a 16.01..



Koawuo pesnnonoe 12,1-1,6

Kouabuo pe3HHOBOC

HunmneJn. |

Taiika

-/Fal‘ilca M16 DIN

aiba 16.01..

TI®b 04.601

K(YH 2000.00.009
Buar M10x20

KVYH 2000.00.040-02

IIpecc-macienKa /

KYH 2000.00.040-01

KYH 2000.00.801

KYH 2000.100.011
KVH 2000.00.428 Hpuscum KYH 2000.00.005

boam M8x35
KVH 2000.00.007 Onopa Wlaiiéa 8.65T"

KYH 2000.01.080-01

KYH 2000.01.080 Tpybonposoo
Tpybonposoo




KYH 2000.22.000 Bujibt

O6o3HaueHune HaumenoBanue Kou-Bo

KVYH 2000.22.000 Pama 1

KVYH 2000.22.020 Pamka 1

I'T] 63.30.320.000(605) [Muapormnunap 2

KVYH 2000.00.040-01 Ochp 4

KVYH 2000.00.040-02 Ochp 2

KVYH 2000.01.080 TpybonpoBo 2

KVYH 2000.01.080-01 TpybonpoBoa 2

KVYH 2000.22.407 Kbk BepxHuit 2

KVYH 2000.22.409 Kbk 60xoBOM 2

KVYH 2000.00.009 Kpermika 6

KVH 2000.00.801 Brynka 4
I1KVY-0,8.15.602 IManerx 8
I1KVY-0,8.15.603 Brynka 8
I1KVY-0,8.15.605 I"afika cienmainbHas 8

[1DE 04.601 [Tanen 8

KVYH 2000.00.007 Omnopa TpybonpoBoja 4

KVYH 2000.00.428 [Tprxum 2

I'OCT 7798-70 boat M16x40 8

DIN 985 I"aiika M 16 DIN 985 16

I'OCT 11371-78 [Tait6a 16.01.08kxn 16

I'OCT 11738-84 Bunt M10x20 6

KVYH 2000.100.012 Macnenka 6

I'OCT 7798-70 Bont M8x35.58.019 2
I'OCT6402-70 [ITaii6a 8.651'.019 2

I'OCT 11371-78 [Taii6a 24.01.019 8

PBJ1 10.01.050.01 PBJ] 2 L=600
PBJ1 10.01.080 PBJ] 2 L=800
PBJ110.01.010.01 PB/] 2 L=385
KVYH 2000.00.005 Konb1o pesunosoe 18

KVYH 2000.100.011

TpolHNK

2 (MOKyIHOE M3/IeITHe)




